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MATHECMATICS By Pradeep Sir

Q. 1) In an election between two candidates, one got
60% of the total valid votes. 25% of the votes were
invalid.

If the total number of votes was 15,000, then find the
number of valid votes that the other candidate got.

Suflcar! & €19 U g9 #, Uh &I oa dY Hdl &I
/2) mg |zsgaeléumqﬁ%wﬁna’fﬁm
15,

e

gﬂ%maﬂhﬂﬁunﬁﬁmm

— SSC CPO 27/06/2024 (Shift-01)

: '
_(b)4,500
c) 6,75C
(d) 5,000
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Q. 2) In an election, 12% of the voters in the voter list did
| 456 not cast their votes, whereas 84 voters cast their ballot
-1 2 &Yy papers blank. There were only two candidates: Ramagya
Q8%  — and Shravan. The winner, Ramagya, was supported by
- , 247 2 54% of all the voters in the list. He got 1456 more votes
e than his rival, Shravan. Find the total number of voters in

I the list. 2 }[ﬂ & wnirer 3
: q-1d H, Hdgldl 12% HdgIdl AT
U x 34X 21 1 SToT, STt g4 FeTEIaf 4 o HATA @R &

\ J ¥aa 3t SuileaR, I R ¥aur A1 faeraT W B
gl & gt Aagrarst d§ | 54% &1 G0 e gaml 39
Iu wfdgdt yaur | 1456 dic 4fy & e A
S HAGIAT3l 1 P F&AT FTd PIeC | L—
| 33 L e

E— SSC CPO 27/06/2024 (Shift-01)

(a) 5690 Y 5670 X

el e
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MATHCMATICS

By Pradeep Sir

Q. 3) On account of corona virus, 5% of the population of
a village died. Out of ‘the remaining Eopulatlon 20% fled

due to panic. If the present population is 4655, then
what was the population of the village before the corona

attack?

aﬁﬂmm%mwmﬁmmaﬂ ug

:_‘;‘ | VY FEST H H 20% HT & BRI UIT TS|
mz&ess% al SRET ATHHU | UgA d DI

(c) 6000
(d) 5985

S5C CPO 27/06/2024 (Shift-02)

Se—————
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Q. 4) In a class, the numbers of boys and girls are in the
ratio of . What is the percer;;ge of boys in the class%
&) TP P&l HEAT DT AqUId 3: 5
8 mnﬁasas’fmuﬁm:m
3 % SSC CPO 27/06/2024 (Shift-02)
- ) — ==
(c) 42.5%
- 3 51
> S x5 375 :
> - N = ST2T (d)125%
0 I 2SI
= ) <3
W \ D) ‘
% —> =A§ 4W
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e ” :
_ Q. 5) In an election, the winner was supported by 46% of
| 00 ¢ — [0 +od votes all the voters in the list, and he got 410 votes more than

/ B —_— ————————
g his only rival. 10% of the voters on the voters' list did not
cast their votes, and 60 voters cast their ballot papers

e B T L, e
1) /\ ) féar mar 1 Y I/ AU THATT Uldgel H 410 9T
&%fﬁﬁl mgﬂmﬁﬂ?g 10% mﬁﬁgaqﬂ%mg
60 HdGEl Haud @rat e Ul
LWe X Uy-x( Carer HW -
) | §SC CPO 27/06/2024 (Shift-02)
(a) 17445 (b) 16550
(Kq:s\ (:) 17500 (d) 15750
—550 _(0®
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Q. 6) The strength of a school increases and decreases
every alternate year by 15%. If it started with an increase
in 2012, then the strength of the school in the beginning
of 2015, as compared to that in 2012, had (correct to two
decimal places):

US ¥Pd Bl O1F 481 TS UHiay a4 | 15% IR
u?cﬂ?ﬂﬁq@ P! YHATd 2012 # g8, A 2012 BT g
#, 2015 P! YFATd H oA I B F&I AT (G SUAAT

R & Hel) 83|
SSC CPO 27/06/2024 (Shift-02)
(a) Decreased by 12.41%/12.41% &I HH!
(b) Increased by 12.41%/12.41% ®! 3f&
(c) Decreased by 13.85%/13.85% &1 ®HI
(d) Increased by 13.85%/13.85% &t
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Q. 7) In an election between two candidates, 10% of the
o0 x voters did not cast their votes and 75 votes were found
_ invalid. The winner got 50% of the total votes expected
/ "o/ and won by 170 votes. How many voters were enrolled in
gox g;e voters’ lisg i a ot 3 e it
SEGar| TP 9419 H 10% HdgId]
w AU L STt 3R 75 A =9 uTg Y| fasian &t sndféra oo
® 50% dlic fird ofik a8 170 diet | Sitd a1 AagEar gt A
50  lox fFaa wagraTa &1 =19 g 27
L SSC CPO 27/06/2024 (Shift-03)
(a) 800
c) 850 _ —
A5 xiof @oeso ] T 1S
Y aSP ZB
= —
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Q. 8) In an election, A received 27% of the votes and B
re- ceived 125,982 votes. 19% did not cast their votes.
Find the number of votes received by A. A
TS g41d H, A Bl 27% Ad fAa 3R B $I 125,982 #d A
19% A HdGH gl fHaATl A GRT U Hdl & W 1
" —

SSC CPO 27/06/2024 (Shift-03)
(a) 44,327
(b) 1,88,973y

(d) 62,991
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3ox — 15900

|00 X M !’

Q. 9) In an election between two candidates, the
candidate who gets 35% of the votes polled is defeated
by 15,900 votes. What is the total number of votes
gl IWilgaR! & o9 U® g41d H, 35% Ad W S ardl
IRfigar 15,900 Wal | R WET 81 T8 UP Hal &t P

& JTd B
SSC CPO 28/06/2024 (Shift-01)
A
’ 4 O'I'O
(c) 35,000
(d) 43,000
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260/{. Q. 10) Bhavani spends 68% of her income. Her income
increases by 15% and her expenditure increases by 10%.

I - ExP + S :-Iuos\: d";:ii‘ailsu:)hteoigcc;ie;ist:) in the percentage of sav:‘:g?
- %ﬁﬁﬂﬁ&%ﬁ@ﬁﬂ%%@ﬂ;ﬁw%

ISP AT H 10% | D!

gad ¥ fea ufawa ot 3fS 532 (@ ST il a& F1d

P

£ §SC CPO 28/06/2024 (Shift-01)
lO‘I-(x x. a) 20.57% (c) 28.42%
o @ 24.80%

0

4 2.5 .b’l«'r. E’(P Son
E ‘:‘_ _8_2 \'S ;) —_
LA lo% K N 7/ )




MATH MATICS By Pradeep Sir

A 10 Q. 11) A number is first decreased by 10%, then
lo ° 9 increased by 30% and then further it is decreased by

oD = 20%. What is the net decrease percentage in the
o)=L number?

S5re ° 13 > & UEd 10% wrdt 2, fhY 30% STt 8 3R
zmw@a&ﬁﬁmﬁmﬁuﬁmﬁ

5 * wa C CPO 28/06/2024 (Shift-01)
e
()] 3-5%

5o ;7 3y (© 52%

)

Ve _ 32, _ .2,
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Q. 12) Ramnarayan’s salary was reduced by 3%%. and

then, the reduced salary was increased by 7%%. By what

percentage (rounded off to two decimal places) is his
new salary more/less as compared to his original salary?

wnméiaaqﬁ3%ﬁiﬁd’tﬁn§ fi5y, ¥

feu daa | 72 %aﬂq@ﬁnélawwémm
¥a Y g A fra wliw @wed ¥ & R T
gﬁm«ﬁﬂmﬁ

SSC CPO 28/06/2024 (Shift-02)
(a) 3.03% less
(b) 4.04% more
(c) 4.04% less
(d) 3.03% more
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Q. 14) Shiya invests Rs. 1,53,000, which is 30% of her
annual income, in mutual funds. What is her monthly

mcome (in Rs.)?

t%a;lwﬁwsooowﬁmﬁﬂmm% ot
ISt mmsoxélmmmmﬂ)

ITd B A
SSC CPO 28/06/2024 (Shift-02)
(a) 52300 D—
b) 45800
_
(d) 55600
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Q. 15) The population of a city increases every year at the

) l

S/ = ?‘5 rate of 5%. If the population of the city is 16000, what

p N‘{ will be thaeﬁ popu]atio% afte;ﬁ years? 2 q@ 2 o

t4 oL - JP A PI SHHEITH 5% aifd® 3 I
utbﬁ 2o 2 ) ;‘3 YEY B FHSA 16000 €, df 2 I G SHESH

?—a o0 ry SSC CPO 28/06/2024 (Shift-02)
- —
LMD Lﬂ” ' 000 %

\4(—\ (d) 17600 P

1647
(%’ o
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votes polled are invalid. Votes polled in favour of Rand S
are half of the total votes polled, and they get equal
votes. Due to a fault in the machine, half of the votes of
S and half of the invalid votes are counted additionally in
favour of R. What is the overall percentage of votes
secured by R due to the fault?

'
P, R IR s & 414 & g1 # T ¢ P #al A / — Ad
m%mah?s%w ﬁ%wﬁﬂgaﬁwnﬁ%

ua’f%sam)arf?rhaawﬁk
ﬂ%lmﬁmkmm‘ﬁmﬁuﬁfm

—
SSC CPO 28/06/2024 (Shift-03)

Q. 16) In an election between P, R and S, % of the total
——

(a) 37.55%
(b) 41.55%

u2s? fo
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Q. 17) If the number of school going children in a town is

\ o'/ 233-) ‘|- 64000 and it is increasing annually by 10%, then what
“ > — will be the number of school going children in the town
at the end of 3 ears?

g« S ara Tl B! WS 64000 7 3
13317 s'm?mﬁmfm% a’tsmf%aﬁiﬂwﬁ
— '@—daﬁmﬂﬁaﬁm L

SSC CPO 28/06/2024 (Shift-03)

‘/_\l (a) 8510072 -

G Yooor 152 - o) =L
s 1) PR~ ’
|o /) _‘ﬂfxlg

| 00 O
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| Q. 18) The cost of Compressed Natural Gas (CNG) per

= I litre is increased by 65%. By what percentage must
’l_)_:'_ff/ Manish reduce his consumption of CNG so as not to
— increase his expenditure? (correct up to two decimal
places)
7 O 23 U (CNG) yfd #eX 65% d¢ Tl
P> loe L %m'-ﬂw CNG BT JUHNT uﬁmmmm

aﬁmmqmﬂ?mm g

: SSC CPO 28/06/2024 (Shift-03)
-9 . 0O
e 23 A0 BELELL R ———

| J ' J.

(c) 45.13%

) (d) 25.39% “ y

3 33

c— m 00 ‘bs

23 . '31\‘3

bS.. 29.39 1 %35 2.
|bS ¥ 102 —
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Q. 19) Ais 25% more than B and B is 30% less than C. If C
is 20% more than D, then by what percentage is A more

than D?
A BRA25% AR e 3B cA30%PHBITRC DA

20% 3fer® g1, at A, D | fFa=r ufawra siftre 22
— = - SSC CPO 29/06/2024 (Shift-01)

E)VEX
b) 6%
(d) 2%
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Q. 20) 42% of Ranita's weekly income is equal to 56% of
Bhaskar's weekly income. If Bhaskar's weekly income was
raised by Rs. 200, while Ranita’'s weekly income did not
change, the ratio of the weekly incomes of Ranita and
Bhaskar, respectively, would have been 5: 4. What is

Ranita's weekly income (in Rs.)?

Yf=ar &t mwha? AT BT 42% HIFHY I Aled AT
& 56% > g1 afe WTTpY oI Arafe® 3 # 200
S0q gidl, aid P! ATdle®d AT H Dig
ufRkad=T T8 gidl, dl a1 3R IS DI ATdlied AT B
UTd PHT: 5: 4 8| AT B Aae® AT (FUD H) F1
%7 I — - —
SSC CPO 29/06/2024 (Shift-01)

(a) 4200
(b) 3600

- uaoo c) 3000

==
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o) = L Q. 21) The population of a town increases annually by
S 20%. If the present population is 80 lakh, then what is

' the difference between the population three years ago
T S TR L/‘ and Zyearasﬁago? - #t 3
, . U@ WeR P wwen # ufd ad 20%
D 57 c¥—=ds ! 36 ﬁmﬁmm%mima mmi ah?zatf
' A, EEL G| 1 3R J1d l
i s&J- 2 12516 - §SC CPO 29/06/2024 (Shift-02)
— (2) 75592.6 \«
(b) 85592.6 e

a ¢) 65592.6
Hd 925925.93
Qo 000% [ 257_ l-(s"l -

35;% ?-IL.
R O &
o, 000x RS = = Z01°9900 g
16 SYy

X —
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Q. 22) Swati earns a sum of Rs.40,000, out of which she
saves 25%. She spends the remaining amount on food

and education in the ratio of 3 2. What is the percentage
| oo s 2 8) of expenditure incurred on education to her total

= income?
w@rfa Y HAT 7, forad | 98 25% T4 81 T8
W IR TG ST RIGT T 3 2 S A wd e B
food cole Lo+t IUS P ITa A e R BT e a5y & ufawa e @2

' 5 SSC CPO 29/06/2024 (Shift-02)
> 4 X
’ )%
®'S
(”' )

(c) 60%
(d) 40%
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Q. 23) In an election, 95% of the total voters cast their
votes. In this election, there were only two candidates A
and B. The winner A, by obtaining 75% of the total votes,
defeated his contestant B by 5500 votes. Find the total

number ofﬂ\‘loters in the ;Iﬁecélon 3 e
gd d-id 95% H HdglH | 89
g9 | mggwﬂaan B ¥ fastar A 2;‘« na’f

m75%uamﬁ%arﬁufau’hﬂ saﬁssoo q e
fear| g # vagrarsit @t $a HBI J1d B
—" SSC CPO 29/06/2024 (Shift-03)
a) 11.00C
BREX ]

(d) 12,000
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¢ Q. 24) The population of a town is 15000. If the
sp population increases by 15% in the first year, by 25% in
A — the second year and due to pollution it decreases by 6%
in the third year, what will be its population after 3
20 ' 273 ears?(Round off number in answer) .
1 ‘ e B HTEET 1 %oggél u?% Huga ad &
15%, g% a4 # 25% hL 3 ?haa%&r ad |
b « &5 UQUUIGRT SHHSAT 6% UC 1 , dl 3
- X v o (S e A T
: SSC CPO 29/06/2024 (Shift-03)
N
po ' 108 (b) 15269 X
- o (c) 25269,
- (d) 28269 ¥
IR
T-’Do > X (o8I
/
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Q. 25) A number is increased by 25% and then decreased
AxG by 16%, the final value of the number:
A+ - TP 6B ¥ 25% Pt gfs it et g 3R Y 16% Tt wult
LY, ! AT g | WS BT |- T g
\-1 SSC CHSL MAINS 02/11/2023 (Shift- 01)
5 -l - 5 xif (a) does not chane
. "
Y ~9 /L{ d) decreases by 13%
9 - 2 s
\— —
AS|-= _{-;, '6)-3?
b s o
sy ">
16 © 103
~_—/
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e o - )oo Q. 26) In an election between two candidates, 64% of the
TD+ to e~ voters cast their votes, out of which 4% of the votes were

_ — declared invalid. A candidate got 12,288 votes which
wt Vo t‘ b Y were 64% of the total valid votes. Find the total number

of votes enrolled in that election. ==

e A o a5 s

43 Q| U IRfGAR B
12,288 Ad fAd St $o dY Wl P 64% ¥ IW gA1@ H
) 2288 AP Al Pt P HSAT F1d Difod | -
Ivoz = |42 E0Xwoxivo ) ~ SSC CHSL MAINS 02/11/2023 (Shift-01)
Qéex ey wloy
(c) 32,152
(d) 20,152

3 %159
/

-
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b/ = st_) S - L Q. 27) The population of the city was 1,75,000 two years
20 ago. If it had increased by 4% and 5% in the last two
years, find the present population of the :;%
al a4 yga Mg B! SIS 1,75,000 | afg Rrod 3 auf
' 12 H gOH 4% 3R 5% P! gfg §% oI, af WY B TAAH
-4 00¢ :
27 ) STHSAT JTd Biferg | — —
—+3+5000x R — SSC CHSL MAINS 02/11/2023 (Shift- 01)
L5 LY (a) 1,92,100
(b) 1,89,200
190 %X 13 % &/ (d) 1,93,200
J100x2)
ﬂ
CIE A -
—




MATHECMATICS By Pradeep Sir

Q. 28) In an election, the candidate who gets 90% votes

‘(_’o_;.a_,[ Vod = 106 is elected by a margin of 800 votes. What is the total

AT 1aT 8| TR ¢ P Hal BT TS
- RD b Bl oL L

SSC CHSL MAINS 10/01/2024 (Shift-01)

number of votes cast?
w /\L. Note: Only two candidates are participating in the
election and assume all votes are valid. _—
G0 x oy P 3ATd H, 90% Hd UI- aTe IHIGAR 800 Helf & 3 |

Loo a) 900
—go¥ 100
(c) 1050
> ‘—/O/Df (d) 950

.




MATHEMATICS By Pradeep Sir

Q. 29) In an election between two candidates, the first
gets 75% of the total valid votes. If 20% votes are invalid
among 2,48,000 votes, then how many votes were cast in
the favour of the other candidate?

3 Iuiicart & 9 g0 s 9919 A, Ugd SRilGaR &1 d
Y Hal & 75% Wd fHad g1 afe 2,48,000 #al 7 & 20% Hd
HT &, At oY SWiIeaR & sl | fbad #a ue?

SSC Phase X1l 20/06/2024 (Shift-02)
(a) 56600
(b) 46800
(c) 53800
(d) 49600
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Q. 30) Anita saves 20% of her income. If her income is
increased by 30% and she saves 25% of the new income,

by what percentage will her actual savings increase?

AT T AT BT 20% TG 21 T IS 31T F 30%

I Exp S #1 3R a7 Ul T§ AT BT 25% FATA! €, At
:m? T9d # fpaa wfawa $1 3l g
| 00 So 0/ SSC Phase XII 20/06/2024 (Shift-02)

. a) 83%
5
34.5 /.1 (c) 65.20%

| 3P
= 4 - (d) 70%
\“________/
15 s
._—_'%.'—b'o
-0
5> LS
—
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Q. 31) A person, while trading the shares of a particular
company, observes that its price has gone down by 10%
from the previous day. In anticipation of increment on
the next day, he holds it for the next day. But the share

price further falls down by another 8% of the previous

day. Then he sells his shares and gets Rs.12,420. How
much could he have saved had he sold it the previous

day?
%mmmm*mﬂm @1%3
oo mﬁ%a?%am q% qmﬁfﬁaﬁ 37 & 10% &9
A0 _ T R a'sﬁ
[SODDXlw ")fffo @l g | AP IR &1 g Mod ﬂ&%_a?n
Y 8 |1l |ma'samﬁw 3@12420
5 T T %luf%mﬁsﬂﬁmﬁ émﬁaﬁ‘ta's
13S0 fra=raar 9odar 4n
| 242P SSC PhaseXll21/06/ 034 (Shuft 02)
-—-T'rg_—o' (a)Rs.1,Q§_0_
— (c) Rs.1,260¢

(d) Rs.1,140/
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Q. 33) The monthly income of Reena was Rs.75,200 and
her monthly expenditure was Rs.22,500. Next year, her
income increased by 25% and her expenditure by 14%.
Find the percentage increase in her savings (rounded off

to 2 decimal places).

o0 {1 Bt ¥ ama 75,200 FUA At R IwST WAife® g
(@~ 22,500 T U1 ST T, THLT AT A 25% A IFS FE
/ e S ara A 14% A I g1 SHH aww A g

g (Gl SWea RIH & FTd Sifeg|
SSC Phase X1l 24/06/2024 (Shift-02)
(a) 34.80%
(b) 28.25%
(c) 29.70%

(d) 30.75%
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Q. 34) If 70 is subtracted from 70% of a number, the
remainder is 70. What is the number?

uﬁﬁﬂﬁm%m%ﬁﬁmmm ?ﬁﬁwmm

3ATAT 8 | ST 1 B |
SSC Phase XIl 24/06/2024 (Shift-02)
(a) 400 ———
(b) 100
(c) 300
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Q. 35) The salary of an employee is increased by 10% and
then the increased salary is reduced by 10%. The
percentage loss in the salary of the employee is:

» (X)3 wm%aaqﬁm%ﬁq@aﬁm%?aﬁmgg
4 - a0 BT AT 10% BH B 1601 oITdT ¢ | HHATY F da= A
= . wferara @1 g1 gt &2

ol =— SSC Phase X1l 25/06/2024 (Shift-02)
2k
e — ’ ,
|00 (c) 2%
(d) 4%
A o] °DZ -/
— —3
| o 0
VA |-/
jo° a4 ~ =
N
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By Pradeep Sir

Q. 36) If an electricity bill is paid before the due date,
one gets a reduction of 10% on the amount of the bill. By
paying the bill before the due date, a person got a
reduction of Rs.23. The amount of his electricity bill (in
Rs.) was:

Fraq fofy @ ved fawsht e wﬂ_&glﬂm :
dl Tae &t Ui 92 10% Bt HHI &1 %I%‘Uﬁﬁl}%
faw & HYA UR UD odiad & fadd | 23 F94
g8l faorelt faa &t Xy (30 #) Ol

—  SSC Phase XIl 25/06/2024 (Shift-02)

(c) 380
(d) 520
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Q. 37) Pass percentage of an examination is 35%. If a
student who got 210 marks, failed by 14 marks, then

what are the maximum marks of the examination?

Peovs M X0 +1Y U TRteT | Il ufawid 35% 81 afe 210 3@ U &
aTel U OTF 14 DT A 0 8 SraT ¢, af uan &

=) Ay Ifpan s wMTE? — -
— SSC Phase Xl 25/06/2024 (Shift-02)
2.0 b) 600
.
5 d) 62(
5

=) (D "1 o
P
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f

)

7 """"—'é;r 5
AT
(30 | 2 3

Q. 38) A person spends 60% of his income. His income
increased by 30% and he increased his expenditure by

20%. His percent saving will then be increased by:
e 3T AT BT 60% @d Dl gl SUDI I A

P
! gf 8 STt 8 3R ag 3= =g | 20% Hi
%%?%lawaﬁmﬁg‘guﬁfmq@;gaﬂgl il

~ SSC Phase Xll 25/06/2024 (Shift-04)
(b) 42%

(c) 46%




MATHECMATICS By Pradeep Sir

Q. 39) If 45% of 50% of a number is 27, then what is the
number?

af feft Wen & 50% BT 45%, 27 B, 9 H& F1d B
— SSC Phase XIT26/06/2024 (Shift-02)

5
ORC
Xx 28 9;?;&%} (b) 180
).;o et ¢) 150
od o _Iﬂiﬂl-
\/
x 2122 aent
X
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Q. 40) Ramagya spends 22% of his salary on house rent
and 75% of the rest on household expenses. If he saves

L 9 Rs.3,705, find his total income (in rupees).

ITHTST U dd9 BT 22% U & BT W 3R A9 $T 75%
:';5:2 _‘,_’? :\—‘*';; g U @4 $Ydl 8] dfe I8 3,705 FUY B g9d Bl
Ip— ¥ — D FF 2, T US| pa AT (FUA H) F1d PY
loo 480 SSC Phase X1l 26/06/2024 (Shift-02)
0 (a) Rs.17,000
(b) Rs.18,000

10

c) Rs.21,000
- d) Rs.19,000
y - g - _ )
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ted € [ - Q. 47) In a Panchayat election, three contestants - A, B,
1° %& and C are contesting. 75% of the total population - of
2 o0 ___S 8000 cast their votes. There were no invalid or NOTA
Qoo x LY = votes in the election. A got the least votes, with only 300
le® ‘____’___‘_'_,o votes. B got 66% of the total votes and won the election.

L —— 2 How many votes did B get?

US YaTad 914 |, 919 ufaaiit A, B, iR € CERGAA
8000 P! Fd WTHS H A 75% A HaGH | 9919 H
~" aﬁémmﬁino%naaﬁﬁmﬁmmm
/N L\,aoonafiralsaﬁ BT 66% W g9 AR a8 g-1d

Sifd 71471 B &1 rafasy ™
¥ " §SC,Phase XIl 20/06/2024 (Shift-01)
oo A2 [ e

U | 3-2 =11

(c) 3660
(d) 4060,
L -
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Q. 42) In an election between two candidates, 75% of the
voters cast their votes, out of which 4% of the votes were

declared invalid. A candidate got 9504 votes, which were

2\ 64 B~ 80% of the valid votes. Find the total number of votes
oS 150 enrolled in that election. -~
ArsoY 100} &l Infigar! & 919 ¢ U@ 914 #, 75% Hegarsit 4 3
T Fs Qe W ST, R |/ 4% W ¥dy "iftd Y 3¢ M| TS
/% P IuflgarR P 9504 A U §U, W 99 Hal & 80% d| IH
gA1d # AHifed Al Pt oo S&I J1d Bifegl
SSC Phase X1l 20/06/2024 (Shift-04)
= |kSbb {‘ (a) 12,375
—_— (b) 12,672

N(

(d) 16,500
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Q. 43) Ramesh spends 60% of his income. If his income is
increased by 30% and his expenditure is increased by
20%, then the percentage increase in the savings of
Ramesh will be:

A AT AT BT 60% T ST 21 afe ITBT 3T 30%
mmmmm%mé,a’tﬁmaﬁmﬁ

I’Q,/ SSC Phase XII 20/06/2024 (Shift-03)
(a) 35%
g (b) 30%
(c) 45%

(d) 50%
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Q. 44) In an election, there were only two candidates.
12% of the voters did not cast their votes. The winner by
obtaining 60% of the total votes defeated his opposite

contestan% 0% votes. Find athe total number sf vo;eé
WW 3“‘!§§R | 12% ﬂﬁiiﬁiﬂ Hd
:mhgm = $d Hdl BT 60% W PP AT
1200 Adl ¥ ST A Hal dI W@
mml
SSC Phase Xll 20/06/2024 (Shift-03)
’ '
(c) 4000
(d) 5730
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Q. 45) In a school, an exam was held for 80 marks in
which 32 was the passing marks. Who among the
following scored the minimum marks?

Note: Round off upto one decimal only.

T feera A 80 o P Tha safer @t wE R 32
Il 3@ ¥ fFAafafaa # | fvaa =g=aw oie ura e
qIc: $ad UP A R d@ YUliied DL |

SSC Phase Xll 21/06/2024 (Shift-03)
(a) D, who got % of the total marks

D ol pa1 3iwpT &1 2 wred g g
(b) B, who got %of the total marks
B fordl o sl &1 - W g3 2

(c) A, who got 72% marks in the exam

A, fordt aften & 729 o UTw 8T B
(d) C, who got 160% of the passing marks

¢ for&t il i@ &1 160% W 31T B
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Q. 46) In a company, 35% of employees are from a

h
science background and ét are from an arts background.
The rest are either illiterate or with a commerce
background. The number of illiterate is 300 which is ; of

the commerce background. How many employees are

from science or arts background?
wmﬁﬁss%m%ﬁm%‘@ﬁ?aﬁzﬁn

aﬁwé lthﬁi’haﬁﬁma\mﬁ&m%mmw
|
alﬁlf&l?ﬁaﬁmsoo%ﬁ’fmﬁmqg\[fhai gl e
mﬁaﬁmmqm@ﬁ% -

SSC Phase Xl 21/06/2024 (Shift-03)

E)) 1500

| .A.
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Q. 47) During 2021, the population of a city increased by
8% and in 2022, it increased by 10%. At the end of 2022,
its population was 47520. The population of the city
popul at the end of 2021 was:

u 3200 2021 & SR, TP e aﬂmﬁaxﬁq@g{aﬂ?
xr« TS _ yIFsto zozzﬁs'aﬁm% §'§I 2022 & 3d W g
150 mzﬂ? 47520 4t1 2027 & 3iq H U Bl FATGSAT [ha-t
SSC Phase XIl 21/06/2024 (Shift-03)
a) 40000
= 13200,
(c) 42300

(d) 44000
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Q. 48) The price of an item is increased by 15% and then
the price is decreased by 12%. What is the effective

t i in th i fit ?
A+6 -Azx2 Mﬁ%%ﬁwm%m%mm
100 mwﬁ1%§;ﬁ7 PGl STl 81 O & e H g%
— SSC Phase XII 24/06/2024 (Shift-03)
2.2%
lb’—l-?—l?x.‘e (:)3%
lo O
3_1.8 R
=>
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Q. 49) The sum of the two numbers is 450. If the greater
number is decreased by 4% and the smaller number is

€ s l_j___,_o increased by 20%, then the number obtained are equal.
The smaller number is;: =~
4 s R e e
- i 1Y HEAT Bl 20% TeT We, df ure
Xxakl- = ) HRATY SRTaR & STt & 1 Bt 4= 7id Y| —
- — $SC Phase Xl 24/06/2024 (Shift-03)
= -5 DR
§ w2 ) 16
 (€)200
_‘_1__3,%2. )
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Q. 50) Nazeer spends 20% of his monthly income on
housing, 25% of the remaining on education, and saves
10% of the remaining. If his monthly salary is Rs.52, 600

,;.U »-5 2 how much money does he save  every month?
P S bR S R R R q%’-'—z-”"
—_— — &1 X Pdl Pl I
5 4 (oTx ’;axj:o(xxﬁf ﬁaqszeoowﬁ% a9 98 U Hig [Pad1 09T SaaT 87
/5/ - Rs.S,ZGO?Q SSC Phase Xil 25/06/2024 (Shift-03)
SZ—Q x,é' (:) Rs.1,578>c
- [@rsiss |
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ol 0/ _)) Q. 51) The strength of a school increases and decreases
ev- ery alternate year by 20%. It started with an increase
in 2018. What is the strength of the school at the start of
2021 as compared to that of 2018?
ol AT US W | faardal @1 8 Td® TeiaT
eh?tlﬁﬁ%lﬂ?wﬁq@_%méw |zo13m‘1
T S ~ gd%ﬁ 2021 P! Yo H
=3 L.' SSC Phase Xll 25/06/2024 (Shift-03)
2 a) Decrease by 16.2% IGZ%ﬁﬁiﬂ
A _(b) Increase by 15.2%/15.2% B ql&
@ S - c) Decrease by 15.2% ﬁq@ R
prm— d) Increase by 16.2%/16. 2%
FXOERSE i
t y
.Ll;g oB
ARS 5 )C 1527
/
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Q. 52) Vinod and Sanjay were fighting against each other
for the post of a village Pradhan. Sanjay got 47.5% votes

and lost the election by 270 votes. How many votes did
Vinod get (assuming that all the villagers participated in

the voting)?

faeig ok dwa am™ UG & gaitﬁmg
g1d @8 7 4| m‘féﬂiy%uﬁé}g 27 ua’ffa7
g1 R a1l faie &t fFaq wa m'a%
wmﬁﬁ%mﬁmﬁmrzﬂ o

SSC Phase Xll 26/06/2024 (Shift-03)

\

N
C .
(d) 2655,0
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Q. 53) A stock portfolio consists of three stocks. Stock A
represents 30% of the portfolio and has a return of 5%.
A. B C Stock B represents 40% of the portfolio and has a return
of 10%. Stock C represents the remaining 30% of the
20 4o B0 portfolio and has a return of 8%. What is the average
return rec%the portfolio?
5 5 194 Q|- d 99 wie b %I RﬁA
| > & 30% @I (TUd Bdl § 3R m
gl ﬁﬁ’w B UIEWIferal & 40% &1 Sfﬁ
L-‘h/l's Y XY mﬂ 10%%lmcm$mso%ﬁ
— — / PYA] ¢ AR TP Red 8% 81 UIkwiferat @
7 st wferrd Reef faseTn @2
7.9 - SSC Phase X1l 26/06/2024 (Shift-03)
__lxie?® (a) 7.2%
(b) 7.5%
il
_—
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Q. 54) A person spends 40% of his salary on food items,
50% of the remaining on transport, and 30% of the

W 485 5 remaining on clothes. After spending on food, transport

X X ﬁf X i{x it 0 and clothes, he saves Rs.1,260 every month, what is his
oY oo lop month saal‘a.%? -
¢ s - P1_.40% QT USTYT W), A9 H1 5

uRag= %"‘lﬂ%" mé%%—a bk ' '
W 98 &% 1,260
X =(poo ¥ qETAT ¢, S AT da fea —
. $SC Phase XII 26/06/2024 (Shift-03)
m— (a) Rs.10000 —

(b) Rs.6000

(c) Rs.7000

(d) Rs.8000
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- G Q. 55) The number of toys manufactured by a machine in
v~7 2018 was 25,000, which increased by 20% in 2019. In

kD) q - GTpoox o 3 20pp0 2020, the production was hindered by strike and it fell by
417D ? 15%. How many total toys were manufactured in three

= - years by the machine? _ e
g L bl ool ey pa ik 2 T
5 2019 H 20% ¢ 3| 2020 ¥ IATGH godrd
2930 - 50,080 e g1 3R FAH 15% PI ARTae o | WA gRIT a1 a9l |
Pa fa e s T P —
> 25500 ' SSC Phase Xl 26/06/2024 (Shift-04)
— E—
(b) 80000
(c) 25500
L5000 (d) 89500
30 000
A5 500
/
Qos o},
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Q. 56) In an election, Candidate A received 27% of the
votes, and Candidate B received 73% of the votes. If the
difference in their votes was 1380, find the total number
of votes.

Us g9 #, Inflcar A &t 27 ufawa w9 |, ik

3nfiear B #1 73 ufawa wa R gl 39& #al &1 o

1380 YT, Tt $d Hdl B BT qId PL| -
——  —1B ACIO GRADE Il 17/01/2024 (Shift-04)

a) 250C

(c) 2900

(d) 3700
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Q. 57) 20 percent of P's income is equal to 10 percent of
Q’'s income and 10 percent of Q's income is equal to 20
percent of R's income. If R's income is Rs.13000, then

'\ \, : C/ 2}1 wl;git is the total income o%l;,Qanac: R? > %
\/J*' (9"‘]5‘5 P &1 319 T 20 ﬂ|a¥|a.Q T & 10 Uiawrd & avmay 3
/ / 3R Q # 3ma 1 10 ufawrd, R B I F 20 ufewT &

aXTaY 21 gfe R @t 39 13000 YA B, a1 P, Q 3R R I

- Po AT fea-t gl |
l/\/ IB ACIO GRADE Il 18/01/2024 (Shift-01)
(a) 78000 —_—
/ (b) 65000
(c) 52000
(d) 39000

MO (kK Test = UfP M

' (o - & PmM
Lt — | C W
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Q. 58) 27 percent of a number exceeds 13 percent of the
same number by 56. What is the value of the number?

feelt e &1 27_ufowa, 3w W@ & 13 wfawa | 56
AP B | W H@N FT A fHa-1 ghm —

d - / . ) 3-/ . IB ACIO GRADE Il 18/01/2024 (Shift-01)
, .
(c) 3
1 4Y). — S6 (d) 420
[ o b/ T
SG

AR P40 -0




